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(i) = o erfard 2
(ii) e G 1 F 5 Th A TS UHR & U 2 |
(iii) v % 6 A 23 # AAR® faweu Ay 1w 2|
Instructions

(1) All questions are compulsory.
(11) Question numbers 1 to 5 are objective type questions.
(111) Internal options have been given in question numbers 6 to 23.
qal fadbey g farfy -
(i) HCF (91,21) &

1x6=6

(a) 91 (b) 21
(c) 13 (d) 7
(i) wHRor e x + 2y +5 =0 3R —3x — 6y + 1 = 0 &1 8 8N
(a) @fgda & (b) ®1E 8t 8l
(c) IFad: 3F® BA (d) <18
(iii) fgona sgue ax? + bx + ¢ & YIB! BT ARTHA BRT—
(@) 2 OF
(© 7 Ok
(iv) fgora wfiexor x2 — 4x + 4 = 0 & ffdgaexr &1 79 8-
(a) 4 (b) 2
(c) O (@) 1
(v) g9 & B0 favg W= EIEl T8 R WAl Bl HT sl
(@) 1 (b) 2
(c) 3 (d) 0
(vi) fa=g (0,5) wd (—5,0) & dra &I 53 8—
(a) 5 (b) 5vV2
(c) 25 (d) 2
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Choose the correct option and write it:

() HCF (91,21) is —

(a) 91 (b) 21
(c) 13 (d) 7
(i) The pair of equation x + 2y +5=0and —3x -6y +1 =0 has -
(a) Unique Solution (b) has no solution
(¢) Infinitely many solutions (d) two Solution
(iii) The Sum of the zeros of quadratic Polynomial ax? + bx + ¢ will be-
(@) 2 (b) &
(©) = (d) =
(iv) The discriminant of the quadratic equation x? — 4x + 4 = 0 is-
(a) 4 (b) 2
(c) 0 (d) 1
(v) Number of tangents drawn at a point on circle
(a) 1 (b) 2
(c) 3 (d) 0
(vi) The distance between the point (0,5) and (=5, 0) is-
(a) 5 (b) 5vV2
(c) 25 (d) 2
Raa == &) gt ®ifomg - 1x6=6
(O REEIGECELCHC J— YD B |
(ii) shermr 9 e g3 ufiurfed f&ar O/ o o & w4 § SIET ST & |
(iii) wAfaR #of 5,10,15 ... &7 10af UG ............. g
(V) I PrST T9eY B & |
(v) & fEa ger & wiedr ... BIl B
(vi) BT r d1el g BT 8BS BT G o 2|
Fill in the blanks :
(@) e Zeros will be in a cubic polynomial.

(ii) Shridharacharya derived a formula now known asthe ..................

(iii) The 10" term of A.P. 5,10,15... iS................
(iv) All ............... Triangles are similar.

(v) The Probability of a certain eventis...........

(vi) Formula of area of the circle of radius ris ...................
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3

Tus "3’
(i) sin®A + cos®A
(ii) tan (90" — A)
(iii) 5sec?A — 5tan’A
(iv) == BT I
(v) @t &1 e
(vi) P(E) + P(E) &1 #1 @1 B8R

Match the correct column :
Section ‘A’

(i) sin?A + cos?*A

(ii) tan (90" — A)

(iii) 5sec?A — 5tan?A

(iv) Volume of a cuboid

(v) Area of square

(vi) What will be the value of P(E) + P(E)

UAh BT Uh I /a1 § S forfag -

(1) TP &1 wee ol |

~
. N No—-—
N \

(ii) waifere IRAERAT arell @ R HEAT & 2

Section ‘B’
(@) 5
(b) a®
(c) lbh
(d) 1
(e) 0
9
(g) cotA
(h) a?
(i) cosA
01

(i) fpll wHioR S0l & YoM n Usl BT ANT 10 R bl G Ry |

(iv) I3 BI7 &1 gR¥TST oty |

(v) w92t X @R g & WIS fag &1 a1 dEd 8 ?

(vi) 3| & Ma &1 G farkay |
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Write the answer in one word/sentence of each :
(i) Find the number of zeros.

. '\\ e
g |

(i) Wr\iat is the class of maximum frequency is called.
(iii) Write the formula to find the sum of the first n terms of an A.P.
(iv) Write the definition of angle of elevation.

(v) What is called the common point of the tangent and the circle?
(vi) Write the formula for the volume of a cone.

frferiaa @ @/ sy ferfay - 1x6=6
(i) wafaR & 10,7,4, ... &1 104 vg —17 2|

(ii) |HSY Sl BT &hd Had a-MER BIdT & |

(iii) <Rt @1 & B&H V@ © |

(iv) G BT T =§nr3 BT |

(v) ®IvT 6 a1l FRIRIUS & WA A Bl ARIS = 2 x 2mr

360

(vi) <1 FHSY Sl & |Td Yol qAUT 8l & |

Write True/False in the following:

(i) 10" term of the A.P. 10,74, .... is —17

(ii) The areas of similar triangles are always equal.
(iti) The tangent line is the secant line.

(iv) The Volume of hemisphere is = gnr3

(v) Length of an arc of a sector of angle 6 = % X 2mr
(vi) The corresponding sides of two similar triangles are proportional.

140 31 ¥ qUHEUST & [UFHA & U H S IOy | 2
Express 140 as a product of its prime factors.
arrar/ OR
HCF(306,657) = 9 faar 8| LCM (306,657) =i #IfTq |
Given that HCF(306,657) = 9, find LCM(306,657)

4u” + 8u & IRID ST BN | 2
Find the zeros of 4u? + 8u
arrar/ OR
98U 15x2 + 12x + 7 & IR &I MG AT DI |
Find the Product of zeros of polynomial 15x2 + 12x + 7
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8  oruri =, 2 ok E—: B AT R ST DIOIY T 41 @ e g R gfdess ol 5, 2

5x—4y+8=0
7x+6y—9=0
On Comparing the ratio %,% and 2 find out whether the lines representing the following

2 C2

pair of linear equations intersect at a point are parallel or coincident.
5x—4y+8=0
7x+6y—9=0

arrar/ OR
RIFH FHIEBIT I BT &l HIOTY |
x+y=14
x—y=4
Solve the pair of linear equations.
x+y=14
x—y=4
9 wHidR ol (A.P.) & oM IR Ug folay fSreer yed e a = 10 den |k d = 10
B 2
Write first four terms of an A.P. whose first term is a = 10 and common difference is
d =10.
arrar/ OR

IR gt —5,—1,3,7 .... BT U2 Ug AT HGAIaN SiTd HIfoTy |
Find the first term and common difference of A. P.: —5,—-1,3,7 ....

10 <1 Sl & FERudl & o rawas ufceer {1 | 2
Write the necessary conditions for the similarity of two triangle
arrar/ OR
I UHT BT oA forfau |
Write the statement of Thales theorem.

11 fagatt P(2,3) iR Q(4,1) & &= 31 g8 91d S| 2
Find the distance between points P(2,3) and Q(4,1).
arrar/ OR
X IRy & 99 W U deay Wi sifiy are fag (x, y), fawgei (7,1) iR (3,5) &
AT B |

Find a relation between x and y such that the point (x, y), is equidistant from the points
(7,1) and (3,5).

12 @331 (a, b) 3R (—a, —b) &1 #ey fa=g Sa I | 2
5
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Find the mid point of the points (a,b) and (—a, —b).

arrar/ OR
Y favg & e o diforg St fawgsti (—1,7) 3R (4, —3) &7 Hdr el Y@rgvs &l
2:3 @ argura # fofsra wrar 7|
Find the coordinates of the point which divides the line segment joining the points (—1,7)
and (4, —3) in the ratio 2:3.

13 ufe sind = %, T cosA 3R tanA &1 9 UR®BId HIfU | 2
If sind = %, then find the value of cosA and tanA

arrar/ OR
U FHDIVT 3sT ABC ¥ [STH&T ST B 9H3IV &, dfq tand = 1, dr 91iud SIfg 6

2sinA.cosA =1
In a right angle triangle ABC, right angled at B,if tanA = 1, then verify that
2sinA.cosA =1

14 5 oL a1 a1l U g7l & favg P R Rl v@r PQ @ 0 ¥ S d@rell Ush v ¥ fawg)
Q R 39 UHR Mol & fb 0Q = 12 .| PQ &1 a8 A SIfoly | 2
A tangent PQ at a point P of a circle of radius 5cm.meets a line through the centre O at a
point Q so that 0Q = 12c¢m. Find the length of PQ

arrar/ OR

U g A 4 S U < & b 9 S5em U W B, I W WY W[ B oAFTg 4dem 2| [T
B AT S DI |
The length of the tangent from a point A at a distance of 5 cm. from the center of a circle,
to the circle is 4 cm. find the radius of the circle.

15 6cm Brgr et b 9 & T BSURavS BT el Sid BTy [T BT 60°F | 2
Find the area of a sector of a circle with radius 6 cm. if angle of the sector
is 60°.
arrar/ OR

T g & GATT BT &A% Sd BTy [7ds aRfE 22 I 7|

Find the area of a quadrant of a circle whose circumference is 22 cm.

16 o U &I T IR Hbh+ TR IS IRAT M DI YTRIGAT ST BITY | 2
A die is thrown once. Find the probability of getting a prime number.
arrar/ OR
U [Sed H 5 e, 8 A%a iR 4 8¢ % & | 39 S H 9 U Hdl Al [FdbraT Sl & |
qhe Hdl Fhieds & WRIhdT STd BIRTT |

A box contains 5 red, 8 white and 4 green marbles. one marble is taken out of the box
random. Find the probability of getting a white marble.

17 3afc P(E) = 0.05 g ar ‘E <81 ' &l Uidedl T & ? 2
If P(E) = 0.05, then what is the probability of E not.
arrar/ OR

Th Ui BT Uh dR U UR [AYA T 3T Bl YTRdsdT S DIy |
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A die is thrown once. then Find the probability of getting an odd number.
18 <y % 3V2 s Ry v & | 3
Show that 3v2 is an irrational number.
arrar/ OR
Sita BITY {6 w7 vl wTed dwam n & fog, dwr 6™ sfd 0 R FHT 81 Al 2 |

Check whether 6™ can end with the digit 0 for any natural number n

19 fgena wfiaxor 2x% —3x + 5 = 0 & Hal &I Ugfa Fd B | 3
Find the nature of roots of the quadratic equation 2x2 —3x+5 =0
arrar/ OR
fgend Texor 6x2 —x — 2 = 0 & HaAl BT T 1 BIRTTY |
Find the nature of roots of the quadratic equation 6x?> —x—2=0

20 <1 oA RO O U T AT 64m3 R, B ToltT holdl Bl fATBR U ST a1 STl
2| SOY WIS BFM BT U1 &Fhel Sl DIy | 3
Two cubes each of volume 64m?3 are joined end to end. Find the surface
area of the resulting cuboid

arrar/ OR

T S U fgilel WR TS U T & ’BR b1 8, o B lem 8 dor 2 &
SIS ST 50T & SREX 8| 59 SN &I AT T & Ual § S I |
A solid is in the shape of a cone standing on a hemisphere with both their radii being
equal to1 cm and the height of the cone is equal to its radius. Find the volume of this
solid in terms of

21 <1 RN &1 A% 26 B IR Udh ST g1 AT &l dIF I 8 | S8 S DIy | 4
The difference of two numbers is 26 and one number is three times the other number.
Find them.

arrar/ OR
RIEH FHIBIT I BT &l HITT |
3x —5y—4=0
Ox =2y +7
Solve the pair of linear equations.
3x —5y—4=0
Ox =2y +7
22 Rl W TP HFR FEARR W 8| &Rl & Ue Ui fdwg 4, ol 4R & ule fdg5 4 15m

R, IR & RRER &7 S~19 B1o7 60° 8| HHR BT Sals ST B | 4

A tower is standing vertically on the ground. From a point on the ground, which is 15m
away from the foot of the tower, the angle of elevation of the top of the tower is found
60°. Find the height of the tower.
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arar/ OR
7MY a9 b BRR F Udh dead Sk & R &1 S99 dIoT 60°8 3iR sdd Ul &l
JTTHT BT 45°8 | SR Bl SHaTs STd PITT |
From the top of a 7 m high building, the angle of elevation of the top of a cable tower is 60° and
the angle of depression of its foot is 45°. Determine the height of the tower.

23 f=feRad Aol 35 TR & ArRdr &% @fawd ®) Tl 8 | Arg GRRdaT &3
S DI | 4

45 — 55 55— 65 65—75|75—-85| 85—95
AR <) (ufaerd #)

3 10 11 8 3
TRI B =T

The following table gives the literacy rate (in percentage) of 35 cities, Find the mean
literacy rate

45 — 55 55— 65 65—75 | 75—-85 | 85—95
Literacy rate (in %)

3 10 11 8 3
Number of cities

aizrar/ OR
FrefetRad sifrs 225 fdSTell SUdRul & YT Siiae dTdd (Sl H) &1 ol ad & SUdHRI
BT g8l SId-dblel ST By |

Silae &It (evei | Q0 — 20 | 20 —40 | 40 — 60 | 60 —80 | 80 — 100 | 100 — 120
)
SISELS 10 35 52 61 38 29

The following data gives the information on the observed life times (in hours) of 225
electrical components. Determine the mode lifetimes of the components.

Life times (in 0-20 20 — 40 40 — 60 60—80 | 80—100 100 — 120
hours)
frequency 10 35 52 61 38 29

https://www.mpboardonline.com



